ORIGINA September 1999 Form Must Be Typed

WELL COMPLETION FORM

WELL HISTORY - DESCRIPTION OF WELL & LEASE

Operator: License #30717	API No. 15 - 195-22, 282-00-00
Name: DOWNING-NELSON OIL CO., INC.	Птосто
Address: P.O. Box 372	96qunty: 11ego C N/2N/2 NE Sec. 4 Twp. 13 S. R. 21W East X West 330
City/State/Zip: Hays, KS 67601	feet from (N) (circle one) Line of Section
Purchaser:	1410 feet from (E) (circle one) Line of Section
Operator Contact Person: Ron Nelson	Footages Calculated from Nearest Outside Section Corner:
Phone: (785) 628–3449	(circle one) (NE) SE NW SW
Contractor: Name: Discovery Drilling Co., Inc.	Lease Name: Lang Well #: 1-4
License: 31548	Field Name: Ridgeway South
Wellsite Geologist: Ron Nelson	Producing Formation: Arbuckle
Designate Type of Completion:	Elevation: Ground: 2204 Kelly Bushing: 2212
X New Well Re-Entry Workover	Total Depth: 3860 Plug Back Total Depth:
X Oil SWD SIOW Temp. Abd.	Amount of Surface Pipe Set and Cemented at 213.11 Feet
Gas ENHR SIGW	Multiple Stage Cementing Collar Used? XYes No
Dry Other (Core, WSW, Expl., Cathodic, etc)	If yes, show depth set1566Feet
If Workover/Re-entry: Old Well Info as follows:	If Alternate II completion, cement circulated from 1566
Operator:	feet depth to Surface w/ 170 sx cmt.
Well Name:	(5sks In Mouse Hole) (5sks In Rat Hole)
Original Comp. Date: Original Total Depth:	Drilling Fluid Management Plan (Data must be collected from the Reserve Pit)
Deepening Re-perf Conv. to Enhr./SWD	Chloride content 13,000 ppm Fluid volume 320 bbls
Plug Back Plug Back Total Depth	Dewatering method used Evaporation
Commingled Docket No.	Location of fluid disposal if hauled offsite:
Dual Completion Docket No	· ·
Other (SWD or Enhr.?) Docket No	Operator Name:
1/25/05 1/31/05 2/1/05	Lease Name: License No.;
Spud Date or Recompletion Date Date Reached TD Completion Date or Recompletion Date	QuarterSecTwpS. REast West County:
Kansas 67202, within 120 days of the spud date, recompletion, workov Information of side two of this form will be held confidential for a period of 107 for confidentiality in excess of 12 months). One copy of all wireline logs TICKETS MUST BE ATTACHED. Submit CP-4 form with all plugged wells All requirements of the statutes, rules and regulations promulgated to regulations.	the Kansas Corporation Commission, 130 S. Market - Room 2078, Wichita, er or conversion of a well. Rule 82-3-130, 82-3-106 and 82-3-107 apply. 12 months if requested in writing and submitted with the form (see rule 82-3-130) and geologist well report shall be attached with this form. ALL CEMENTING Submit CP-111 form with all temporarily abandoned wells.
herein are complete and correct to the best of my knowledge.	
Signature: 10 BWM	KCC Office Use ONLY
Title: 10 Date: 5-27-06	Letter of Confidentiality Attached
Subscribed and sworn to before me this 22 day of May	If Denied, Yes Date:
0 2006	Wireline Log Received PECFIVED
10 0 0	LE L. MEIER Geologist Report Received
Notary Public 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1	ARY PUBLIC UIC Distribution MAY 2 5 2006
Date Commission Expires: 1/28/07 My Appl.	KCC WICHITA

ORIGINAL

	•						·•• ,	- , ;			
perator Name: DOW	NING-NELSO	N OIL	CO., INC	• Lease	Name:_	Lang		, . Well #:	1-4	e,	
c. 4 Twp. 13					y:	Trego					
STRUCTIONS: Show sted, time tool open at mperature, fluid recove actric Wireline Logs sa	nd closed, flowing ery, and flow rates	and shut- if gas to	in pressures, v surface test, al	whether s ong with	hut-in pre	ssure reached s	tatic level, hydro	static pressu	res, bottom h	ole	
vill Stem Tests Taken X Yes No (Attach Additional Sheets)				□ □ Ju	og Formatio	nd Datum	Sample				
amples Sent to Geolog	gical Survey		s 🖾 No	Name Top Anhydrite				Тор (1592 +62			
ores Taken		Ye	s XNo		Bas			636	+576		
lectric Log Run		X Ye				oeka	3	246	-1024	1	
(Submit Copy)					, -	ebner	. 3	461	-1249	€	
et All E. Lone Dun:					LK			496	-1284	1	
List All E. Logs Run:			BKC					736	-1524		
				Marmaton			3			-1586	
CDNL/GR, MICROLOG					Che	erokee S	h. 3	834	-1622	2	
CONTO DIAL INDIA			NET ON		Ark	ouckle	3	847	-1635		
SONIC,	DUAL	INDUC	CASING		X Ne				.,,	•	
Purpose of String	Size Hole Drilled	Siz	e Casing (In O.D.)	We	surface, inte eight . / Ft.	Setting Depth	Type of * Cement	# Sacjs Used	Type and Addit		
Surface Pipe	12 1		5/8	23		213.11	Common	150	2%Gel8	\$3%CC	
Production St	. 77/8	5 <u>1</u>	Ī	14	4	3848	EA/2	150	-		
	•			DV	Tool	@ 1566/	SMDC	170			
			ADDITIONAL	CEMENT	ING / SQL	JEEZE RECORD					
Purpose: —— Perforate —— Protect Casing —— Plug Back TD —— Plug Off Zone	Depth Top Bottom	Туре	Type of Cement		s Used		Type and P	ercent Additive	s		
Shots Per Foot		RD - Bridge Plug Each Interval Per		9		cture, Shot, Cement nount and Kind of Ma		ord	Depth		
	Op	en ho	ole @ 38	348'		150 ga	1. 15% N	E			
TUBING RECORD	Size	Set At		Packer	At	Liner Run					
	2 3/8"	384				1	Yes X				
Date of First, Resumerd P		nhr.	Producing Met	nod	Flowin	g 🔀 Pumpir	ng Gas Lif	t 🗍 Oti	ner (Explain)		
3-12-05			~ ~~	Mof						Gravitu	
Estimated Production Per 24 Hours	Oil 24	Bbls.	Gas	Mcf)	Wate O	ы В		Sas-Oil Ratio	39.	Gravity	
Disposition of Gas	METHOD OF C	OMPLETIC	NC			Production Inter	val			•	
Vented Sold Sold (If vented, Subm			Open Hole Other (Speci		* * -	Dually Comp.	Commingled				
neltify .			1 175	MAN 山土 「BYTHEN	Ei * A'i. Willia	4	*				
				っかいため はっさん	見き物 から数か	4.4.2%					

ALLIED CEMENTING CO., INC. 23650

Federal Tax I.D.#

-- (T TO P.O. BOX 31 SERVICE POINT: **RUSSELL, KANSAS 67665** CALLED OUT N LOCATION JOB START 2:30Pm 3:00Pm RANGE ON LOCATION JOB FINISH COUNTY LEASE LOFLIN WELL#1-26 OLD OR NEW Circle one) CONTRACTOR DISCOVERY DRIG #3 **OWNER** TYPE OF JOB HOLE SIZE 12 14 **CEMENT** T.D. AMOUNT ORDERED 150 SK Com CASING SIZE 85/8 DEPTH TUBING SIZE **DEPTH** DRILL PIPE **DEPTH** TOOL PRES. MAX MINIMUM COMMON MEAS. LINE SHOE JOINT POZMIX CEMENT LEFT IN CSG. GEL 3 CHLORIDE 5 PERFS. DISPLACEMENT ASC **EQUIPMENT PUMP TRUCK** CEMENTER _ **398** HELPER **BULK TRUCK** DRIVER 328 **BULK TRUCK** DRIVER HANDLING 158 MILEAGE 55 TOWNIE **REMARKS: SERVICE** DEPTH OF JOB PUMP TRUCK CHARGE EXTRA FOOTAGE MILEAGE **5**5 MANIFOLD ____ RECEIVED® MAY 2 5 2006 TOTAL JOLO STREET **KCC WICHITA** _____STATE _____ZIP PLUG & FLOAT EQUIPMENT 25/2 WOODEN To Allied Cementing Co., Inc.

You are hereby requested to rent cementing equipment

SWIFT SERVICES, INC.

NESS CITY, KS 67560-0466

Invoice

DATE	INVOICE#
1/31/2005	7618

BILL TO

Downing Nelson Oil Co. Inc.

PO Box 372

Hays, KS 67601

pd. 2-15-08 Ck#2408

TERMS	Well	No.	Lease	County	Contractor	Well Type Well		Category	ategory Job Pu		Operator
Net 30	#1-	-4	Lang	Trego	Discovery Drilling	Oil Development			5-1/2" 2-Stag I		Dave
PRICE REF	RICE REFERE DESCRIPTION				QTY		UNIT PRICE		AMOUNT		
575D	· · · · · · · · · · · · · · · · · · ·						30		3.00		90.00
579D			Service - Two		Feet	l i			,600.00 1,600.0		
221			d KCL (Clayfix	()			4		19.00		76.00T
281		Mud				500			0.65 325.00		
290		D-Air				2			8.00		16.00T
402-5			'Centralizers			6			55.00		330.00T
403-5		t	Cement Bask			1			140.00		140.00T
405-5			Formation Page			,	1		,350.00		1,350.00T
408-5			D.V. Tool & l				1	2	,300.00		2,300.00T
417-5			D.V. Latch De	own Plug & Ba	affle		1		200.00		200.00T
325		1	ard Cement				150		7.50		1,125.00T
276		Floce	le				83		1.00		83.00T
283		Salt					750		0.17		127.50T
284		Calse					7		28.00		196.00T
285		CFR-					71		3.00		213.00T
330			Multi-Density		OCON II)		180		10.25		1,845.001
581D		i .	e Charge Cem	ent	,		330		1.10		363.00
583D		Draya	ge				504.5		0.90		454.05
					·						
		Subto	tal								10,833.55
	,	Sales							5.30%	•	441.30
					,						
				*					REC	`EIV	En
			A. 4.				}	i)LIV	
			14.2 (14.0)				•		MAY	2 5 2	uue
**			1.38							L J L	UUU
• •			grafia di Maria						KCC	WIC:	-IITA
				•			·				80 80 A
Thank ' We Loc					In 2004!	The state of the s	-	Γotal			\$11,274.85

ALLIED CEMENTING CO., INC.

P.O. BOX 24 RUSSELL, KS 67665 PH (785) 483-3887 FAX (785) 483-5566 FEDERAL TAX ID#

INVOICE

Invoice Number: 095768

Invoice Date: 01/28/05

Sold Downing Nelson Oil Co.Inc

To:P. O. Box 372 Hays, KS 67601 Pd. 2-155-05

Cust I.D....: Down
P.O. Number : Lang #1-

01/28/05

teem t.h./Hesc. Ot?	T. USCO	Unit	Price	Net T	←
Common	150.00	SKS	8.3000	1245.00	Γ
Ge1 - 1000 - 1000 - 1000 - 1000	3.00	SKS	13.0000	39.00	r
Chloride	500	SKS	36.0000	180.00	Γ^{+}
Handling	158.00	SKS	1.5000	237.00 I	3
Mileage (45)	45.00	MILE	8.6900	391.05 E	2
158 sks @\$.05.5 per	sk per mi		a tym kom to fi	and the same of	
Surface	1.00	JOB	625.0000	625.00 F	Ξ.
Mileage pmp trk	45.00	MILE	4.5000	202.50 E	<u>.</u>
Plug	1.00	EACH	55.0000	55.00	ſ
All Prices Are Net, F	2974.55				
Date of Invoice. 1 1/					
If Account CURRENT ta			ents:	0.00	
ONLY if paid within 3	3055.06				
- 1925년 - 12 전에 구경선 (12 년 12			, planský hoviterinou postava st Nagradiský postal	t en e 18 o engant a travalente e. j Propinsi	:
	化二烷二基 经行动设置的 化放线电流				

RECEIVED MAY 2 5 2006 KCC WICHITA